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Group-A
(Multiple Choice Type Question) 1 x 70=70
1. (Answer any Seventy )
(1) The information in a CV should be arranged in order
a) chronological b) reverse chronological
¢) random d) alphabetical

(11) “I cannot work hard.” This statement refers to my
a) Strength b) Opportunity
c) Weakness d) Threat

(111) Identify the gerund in the following sentence: “Though smoking causes
cancer, he 1s still doing it.”

a) Though b) smoking
c) doing d) still

(1v) late, , lastest
a) later b) latter
c) latest d) laterre

(v) ‘Switch off the fan’ is a sentence in mood.
a) Subjunctive b) Imperative

c) Emphatic d) Assertive



(vi) I cannot put with his ignorance.

a) on b) all of these
c) over d)up
(vi1) CV stands for
a) Corpus Variorum b) Curricular Varieties
c¢) Course Viability d) Curriculum Vitae

(viil) The sun rises in the east and sets in the west."' Identify the type of
sentence.

a) Simple b) Compound
c) Complex d) Exclamatory

(1x) A poem of serious reflection, typically a lament for the dead is called
a) Eulogy b) Elegy
c) Ecology d) Epistemology

(x) Her dance is a great poem.' Identify the figure of speech in the sentence.
a) Simile b) Antithesis
c¢) Metaphor d) None of these

(x1) What does the irony add to the story, ‘Lamb to the Slaughter’?
a) Fear b) Humour and Suspense

¢) Confusion d) Excitement

(x11) How would you describe Mary at the beginning of the story?
a) Angry b) Docile
¢) Confused d) Smart

(x111) Who is the author of “Lamb to the Slaughter”? (Module - 4)
a) R. K. Narayan b) Alfred Hitchcock



¢) Anton Chekhov d) Roald Dahl

(x1v) We know Patrick was upset when he got home because of all of the
following EXCEPT:

a) Speaking rudely b) Ignoring Mary’s questions
¢) He was late d) He was drinking a lot

(xv) The colour of the drink in Patrick’s hand was
a) Dark brown b) Dark red
¢) Dark amber d) Golden

(xv1) “Kolkata is the largest town in India” can be rewritten as

a) Kolkata is larger than any other town in b) Kolkata is not larger than any other town
India in India

c) Kolkata is larger than no other town in  d) Kolkata is as large as any other town in
India India

(xvii) “I have been living here for months”- the mood of the sentence is
a) Imperative b) Subjunctive

¢) Indicative d) Causative

(xvii1) Confirm/ Conform is an example of
a) Heteronym b) Homonym
¢) Homophone d) Synonym

(xix) After Tanya’s exams, she felt as free as a )
a) Bee b) Bird
c) Tiger d) Prisoner

(xx) Which of these is NOT a demographic factor in analyzing your audience?
a) group memberships b) age



c) speech purpose d) gender

(xx1) When he was young, he swim very well.
a) Could b) Should
c) Ought to d) Must
(xx11) ASAP stands for
a) As soft as piano b) As smart as popular
c) As soon as possible d) As small as pinhole

(xx111) The time of the singing of the birds has come. (Classify the word in
Italics)

a) Gerund b) Infinitive
¢) None of these d) Participle

(xx1v) What does Consideration in Communication imply?
a) Stepping into somebody’s boots b) Stepping into somebody’s shoes

¢) Stepping intosomebody’s domain d) Stepping into somebody’s area

(xxv) If I were Icarus I would fly to the sun. (Identify the Mood of the
sentence)

a) Optative b) Exclamatory
¢) Subjunctive d) Assertive

(xxvi) A message is considered to be concrete if it is supported
by

a) Specific institutions b) Specific persons

¢) Specific terms d) Specific facts and figures

(xxvil) One who is not sure about God’s existence is called
a) Agnostic b) Atheist



c) Altruist d) Anthropologist
(xxvii1) A doctor that specializes in treating diseases of the kidney
a) Narcissist b) Narcissus

c¢) Nephrologist d) Necromancer

(xx1x) Which of the following is not a feature of Memorandum?

a) Persuasive b) informative

c) obligatory d) all of these
(xxX) !' T lost my mobile phone. (Fill in the blanks with the proper
Interjection)

a) Ah b) Oh

c) Alas d) Fie

(xxx1) A person who compiles dictionaries is called

a) Cartographer b) Cardiologist
c¢) Lexicographer d) Ornithologist

(xxx11) A person who is selflessly concerned for the well-being of
others

a) Agnostic b) Atheist
¢) Altruist d) Anthropologist

(xxxii1) The document that is usually associated with Agenda is the

a) Tender b) Minutes

¢) Quotation d) none of these

(xxx1v) Which of the following is not a part of Audience Analysis?
a) Culture b) Eating Habits



c¢) Religion d) Maturity

(xxxv) The entire nation grieved over the death of the prime minister. (Identify
the option that means the same as the word in Italics)

a) cried b) wept

¢) mourned d) harrashed

(xxxvi) He did not pay any heed to my advice. (Identify the option that means
the same as the word in Italics)

a) respect b) caution

¢) attention d) none of these
(xxxvii) He refused to attend the meeting....................... his illness

a) on part of b) on point of

¢) on the ground of d) with a view to
(xxxviil) When we save some thing from injury or decay we are ....... it.

a) preserving b) saving

c) saving d) creating
(xxx1x) He was under the............. that he could fly.

a) Allusion b) impression

¢) delusion d) elusion
(x1) Strong emotions can .......... your health.

a) Impect b) affact

c) effect d) averse
(xl1) What 1s the............. for the meeting tomorrow.

a) Agenda b) addenda

¢) aid d) and



(xli1) It 1s 1llegal to................ the speed limit.

a) Accede b) exceed

C) assess d) access
(xl111) She was............. at using graphics to illustrate complex ideas.

a) Adapt b) adept

c) assent d) excess
(x11v) I know all the answers on the test......... the last one.

a) Accept b) access

C) excess d) except
(xIv) The back door is................... from this path.

a) Assessable b) excessible

c) accessible d) adaptable

(xIvi) Shakespeare was a famous play

a) right b) write

c) wright d) writ
(xlvi1) The ................ of reckoning has come.

a) Hour b) our

¢) hover d) houri
(xlvii) are listeners and viewers both.

a) Organizers b) beneficiaries

c) spectators d) footballers

(xlix) Ms Mary Maloney’s husband was a

a) Superintendent b) Bank officer



c) Detective d) Store Manager

(1) In a Complaint letter, 1S a must.
a) writing in harsh language b) demanding a compensation
c) expressing disgust d) threatening consequences
(l1) Advertisements are a speedy medium of communication.
a) Corporate b) zonal
c) mass d) rural
(li1) What is our for dealing with our new competitor?
a) end game b) game wrap
c) old game d) game plan
(li11) helps understand how to adapt the speech to the
audience’s needs.
a) Audience analysis b) Swot analysis
c) Business meetings d) Audience behaviour

(liv) Where 1s an Infinitive used in this sentence? She went to the store to get
some bread for her aunt.

a) She went b) to the store

c) to get d) some bread for her aunt.
(Iv) I'm not really sure where the cat is, but I think she ............... in the
kitchen.(Module-1)

a) need to b) might be

c) ought to d) can be

(Ivi) Which verb mood goes with this sentence? "Clean your room!"

a) subjunctive b) imperative



¢) indicative d) infinitive

(Ivii) Don’t until the negotiations are finished.
a) Rock the boat b) Pat the pal
c) raise the bar d) see eye to eye

(Ivii) While analysing the audience, avoid

a) Eye contact b) Acknowledge their needs

¢) Thanking them for their presence d) Insensitive humour
(lix) If T had left early like everyone else did, I ............... sitting here now
listening to all this rubbish.

a) may not be b) wouldn’t be

¢) cannot be d) shouldn’t be
(Ix) The dining hall opens a cemetery.

a) onto b) on-from

c¢) onside d) within
(Ix1) was the grocer in ‘Lamb to the Slaughter’.

a) Patrick b) Melville

¢) Sam d) Joe

(Ixi1) After the murder, Mary went to the grocer’s to buy potatoes and

a) a can of peas b) a can of milk

c) a can of soup d) a can of sauce

(Ix111) The art or practice of garden cultivation and management is called

a) Agriculture b) Sericulture



c¢) Horticulture d) Sporiculture

(Ix1iv) analysis considers age, gender, culture, race or
religion factors of the audience.

a) Democratic b) Authoritative

c¢) Demographic d) psychographic
(Ixv) Mary had bought some ~~ potatoes from the grocer.

a) Inaho b) Idaho

c) Yellow d) Ricardo
(Ixvi) the circumstances the principal did not announce
punishment.

a) notwithstanding b) considering

¢) thinking d) relating
(Ixvii) In analysis, people’s hopes, values, aspirations are
considered.

a) geographic b) demographic

¢) psychographic d) situational
(Ixviii) you do not change the meaning, you can
rephrase the sentence.

a) as far as b) as more as

c) as well as d) as long as

(Ixix) What "shocked" Mary when she returned from the store?
a) Supper was ready b) The police had come

¢) The fire was out d) Patrick was dead

(Ixx) Transformational technologies can be a to a business.




a) skill b) weakness
c) threat d) opportunity



